




Real Champs-



(3080 + 6160) ÷ ? = 330

A.24
B.23
C.28
D.27
E.25



(121)1/2 × (1331)1/3 × (11)2 × √11 = (11)? + 0.5

A.2.5
B.3
C.3.5
D.4
E.NOT



[(4/5) of 11325 + 56% of 1750] = ?2 + 436

A.116
B.73
C.98
D.84
E.107



√? × 49 + 729 ÷ 92 × 6 = 60% of 825

A.36
B.49
C.64
D.81
E.100



4448 × 17 - 17 × 3447 = ?

A.17000
B.17170
C.17777
D.17017
E.NOT



√324 + 92 - 72 = 2 × (?)2

A.25
B.5
C.10
D.125
E.20



184 ÷ 46 ÷ 0.008 ÷ 12.5 = ?

A.30
B.40
C.60
D.80
E.NOT



78 + 85 – (13 × 8) + (81 ÷ 3) = ?

A.84
B.86
C.92
D.96
E.NOT



x2 - 25x + 156 = 0

y2 – 23y + 132 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



x2 – 3x – 4 = 0

y2 – 4y + 4 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



x2 + 13x + 42 = 0

y2 + 19y + 88 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



x2 + 47x + 342 = 0

y2 + 57y + 602 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



x2 + 12x + 32 = 0 

y2 + 6y + 8 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



The ratio of the Mother's age named S to her daughter's age named V is 9 : 5. The 

product of their ages is 1125. The ratio of S to V after five years will be?

S नाम की मााँ की आयु और V नाम की उसकी बेटी की आयु का अनुपात 9: 5 है। उनकी उम्र का गुणनफल 

1125 है। पाांच वर्षों के बाद S और V का अनुपात क्या होगा?

A.1 : 3
B.2 : 3
C.3 : 4
D.5 : 3
E.NOT



A, B and C can fill a tank in 10 hours while A and B individually fill the same tank in 30 

and 20 hours respectively. If 1 / 4th of a tank of double the capacity of previous tank is to 

be filled using C, time required for the same is?

A, B और C एक टांकी को 10 घांटे में भर सकते हैं जबकक A और B व्यकिगत रूप से उसी टांकी को क्रमशः 

30 और 20 घांटे में भर सकते हैं। यकद कपछले टैंक की क्षमता से दोगुने टैंक का 1/4 भाग C का उपयोग करके 

भरा जाना है, तो इसके कलए आवश्यक समय क्या है?

A.20
B.24
C.25
D.30
E.35



Two buckets of same quantity are respectively (1/3)rd and (2/5)th full of milk. Then R 

filled up them with water and the contents are mixed in another bucket. What will be the 

new ratio of milk and water in another bucket?

समान मात्रा की दो बाकटटयाां क्रमशः (1/3)rd और (2/5) दूध से भरी हुई हैं। कफर R ने उन्हें पानी से भर कदया 

और सामग्री को दूसरी बाटटी में कमलाया जाता है। दूसरी बाटटी में दूध और पानी का नया अनुपात क्या 

होगा?

A.11 : 20
B.12 : 25
C.11 : 19
D.12 : 11
E.9 : 11



Two successive discount of 40% and 25% are equivalent to a single discount of ?

40% और 25% की दो क्रमागत छूट ककसकी एकल छूट के बराबर है?

A.65%
B.60%
C.55%
D.50%
E.NOT



The ratio of the current ages of R and M is 4 : 5. After four years the ratio of their ages 

become 14 : 17. Then find the present age of R ?

R और M की वततमान आयु का अनुपात 4: 5 है। चार वर्षों के बाद उनकी आयु का अनुपात 14: 17 हो जाता 

है। तो R की वततमान आयु ज्ञात कीकजये?

A.24 years
B.22 years
C.26 years
D.20 years
E.21 years



676, 729,    784,    841,    ?

A.900
B.961
C.909
D.987
E.1000



58, 67,   95,   160,   286,   ?

A.593
B.603
C.613
D.563
E.NOT



3, 3,   9,   29,   ?

A.61
B.51
C.71
D.75
E.67


